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UNIVERSITY OF CALGARY
DEPARTMENT OF MATHEMATICS AND STATISTICS

MATHEMATICS 253 — 103 WINTER 2004
QUIZ #£5b [04-04-06(Tue)]

Attempt all problems. Each problem: 10 marks. Total: 30 marks (best 3 out of 4 problerus)

1. Find the orthogonal trajectories of the one-parameter family of curves
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2. Solve 2y" —y —y = 2z, y(0) =0, y'(0) = o W /
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3. Solve Yy — 9y = 9z + 3=
10747—__7’: o S Bom L
3xX -3X
)(/3:: C/. i + CL) e

J‘C“ Sels Z/)r;/j ?—gfé’

foe f
)//a - Ax+ B + CDX'@B)(

3x X
)/p/: Y | 'f(é?f@ )(7‘ € )
| Ix s
/’/: C/?.?ceﬁx#«‘?ﬁ’ # “gﬁp)
/7

- C/?Xég){% éne;’y
’ ’3;( Jﬁ’(
B -G —9(axrB) + €€ = Jx € .
" ~9p = 7
_?@ =, g
bc =/

s oL,
A= =/, A=0, C=&

: 3x
3
T F e

¥ | g‘x -
\\/: 9’@ + e



!
/I Math 253 (Winter 2004-L03) - Quiz 5 ' Page 3 of 34
/

4. Use variation of parameters method to solve

y" + 4y = sec 2z.
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